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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level Media
Studies, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2024 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2024 Examiner Report for further details and guidance.

The question paper and mark scheme is available on the School Support Hub

9607 June 2024 Question Paper 21

9607 June 2024 Mark Scheme 21

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — low Examiner comments

a The candidate uses

1T lo e Shore clip deds  hal of wostery oot enicded _ _
) media terminology accurately

\ \

Yog...opnre N5 Qrxar0o. .. o023 ekl worev. In the 0 to make a simple point and
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jend  Intne doke of  ponic _ard e knewo. o by analyses the way that the mise-

| = \ 1 aresers |

Examiner comments explain
where and why marks were
awarded. These help to interpret
the standard of Cambridge
exams to help learners
refine their exam technique.

Responses are written by real candidates in
exam conditions, demonstrating the types of answers
for each level. These could be used to discuss and
analyse the answers with learners in the classroom to
improve their skills.

How the candidate could improve their answer

» The candidate needed to ensure that all points made were linked to points of analysis. The candidate should have
avoided simply describing the technical elements used within the extract.

+ The candidate needed to make sure that all words used were accurate, so that communication was not impeded,
e.g. enigma, not ‘enigdma’.

+ The candidate needed to be clearer in their analysis, e.g.
‘drama and maybe horror’.

This section explains how the candidate
could improve each response. It helps learners to
improve their exam technique.

Common mistakes and guidance for candidates

» Some candidates simply narrated what was seen, or simply described technical elements featured within the
extract, e.g. camera shots (long shot), angles (high/low), movement (pan/track), composition, sound and editing
techniques (transition, cut). Instead, candidates need to analyse the ways in which meaning is constructed through
technical elements within texts, rather than retelling, or describing the sequence. Candidates should avoid simply
describing or pointing out technical aspects and focus on how and why meaning is created.

+ Some candidates repeated points throughout. This mig This section lists common mistakes as well
response to cover a wide range of examples and points as helpful guidance from the examiner. This will
help your learners to avoid these mistakes. You

can use this alongside the relevant Examiner
Report to guide your learners.




Example Candidate Responses — Paper 2

Question 1

Example Candidate Response — high Examiner comments

\ithin episode 1 of Your Honor e dire cbr Begen]
_,,,,Bmpo <. numerous. Comelediting, m,se'u\—sm,xx/lc// Sound
tethnigues +o baar (yre in Jiew@rs jn _on_acHon- ﬂw‘d
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Lgaiver speecing. Lang ¥ yviered thagn He bothr o to o ‘audiences clearly see the driver’s

vulnerability; creating suspense and
drama in the clip’.
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Example Candidate Response — high, continued Examiner comments
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e The candidate uses terminology
to analyse the way that the editing
technique of ‘crosscutting between
the man driving and those same
people from earlier now following’
creates a sense of urgency as this
‘emphasizes the need for this man
to leave the area’.

@ The candidate insightfully
analyses the way that the editing
shows ‘an insert of the car’s gas
light turning on — rapidly; Another
insert is used, this time of the
man trying to reach for his asthma
inhaler while driving’. This creates
impact by showing ‘viewers that
the driver’s only method of escape
is running out of gas; Combined
altogether, these inserts show to
audiences that this man is now in
grave danger’.

o The candidate analyses the
camera shots, editing and mise-en-
scéne by stating that ‘a rapid action
match of the sudden crash; cuts to
the belongings of the crash victim (a
helmet, a shoe, etc.) and evoking
‘feelings of shock and drama’ for
the viewers. The candidate uses
examples which fully support their
expression.
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Example Candidate Response — high, continued Examiner comments

L Trere are ooy Enctors with He, ovesnll_mise—en-.
|stene of Your HO/ﬁflr‘ w/n(j, e, ches. . what te.
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¥
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V\\\dn ol Conddbvkes o He sence Oé danqef‘mp/hm @ The candidate analyses

theogiot He. stene- I the way that the mise-en-scéne

with ‘the asthma inhaler’ creates

] 'ﬂ‘r@ 77777 SOVM +€ohm aues. Uge,d in Hm d[ dé suspense by ‘showing audiences
!‘0‘6 i He, ovesll 5(_ “hed ﬁﬁy J that the driver relies on it to survive
"""" < N AT — especially in the harrowing
bf{’}‘m“‘? o Bre, g~ hoY\ (Wd%‘b :QVW &.in moments where he ... needs to
 Rormn K SRV - 56\/7'\&‘%5(»0(“@/ 15 VBRE She-ir 0 escape’.
o | RS Pral e deven &crived o Jcae,soem with.
b ol rose Ao He driver polis geks ot of s || (@ The candidate analyses the
O ¥ HN/ Cana , e stact 5&?5 Land, dieChor way that the ‘non-diegetic sound
'MW &\Af‘ﬁf\&b/ n ‘Hrﬂ v wH’LV He/ uﬁo’dg in the form of a serious-sounding
- N LAT ’ ing i

score’, constructs meaning in the
extract ‘showing viewers that the
driver has arrived to the scene with
a mournful purpose’.
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Example Candidate Response — high, continued Examiner comments

ook notse s suh ad Ho A0 door Closing, feees bt Ty
Yo vand, and \oin&sﬂw chiCpiny. Hovererr an_once
) \’\c %(avp ot pQ,Op\L &,ﬁxn..g\/rmun@/‘,. i *Honon"dkaehc
R re)mrns,{—'hxs Yilve Sourding b oee_omious . AS fer
16k lng Lohoed ,thi & scoe. Continves. ol bwldég
Up In Sound, mpu/{':v@, WTW\ A fkmdyfmmrﬁ

@ The candidate uses terminology
accurately to analyse the way that

------ Sense of dange _ IN. VIS, A$ e _those ensues, ‘the non-diegetic score returns; this
 Hewee amblont pelse in He foen o o SPV‘t'f/‘efS/f-}xq/ time sounding more ominous’ and
CN\PM\M@ dovvh 15 US&CI' Mera wibh ‘H( dmfu‘ o creates an ‘increasing sense of
lpyesiv, w«em.:@ o b s o o Jnhalem which | | 9noer

|Creakes spess and_suspepge. of e

é/fmgef +Ym dever hos Pound_ himsed6 in. Grodly a.
| suben very toud 59UNY perspective of He Crash [ |
US% \th(/h Yo divechor Uses 4 surprie rmd_,_@ @The candidate accurately

analyses the way that a ‘very loud
\\Om@ VS ok ‘H“S Sudden. h/rn ”G RS sound perspective of the crash

is used’ to ‘surprise and horrify
viewers at this sudden turn of
events’.

Overall, through over 13 points
of analysis, and across all four
micro-elements (camera shots,
angles, movement and composition;
sound; mise-en-scéne; editing)
the candidate provides evidence
of a thorough understanding of
and effective reference to the
key concepts of language and
representation. They also use

a range of media terminology
accurately to help make effective
points.

Total mark awarded =
21 out of 25

How the candidate could improve their answer

» The candidate could have employed sophisticated terminology more frequently, e.g. use connotation, rather than
infer. They could also have used more sophisticated descriptive language in relation to sound and editing, such as
soundtrack, sound effects, diegesis, pace, and continuity.

* The candidate needed to demonstrate more insightful examples, such as how the differences between the two
representations of ‘men’ create meaning in relation to race/ethnicity, and gender (representation of people), or by
identifying the specific elements of the location which denote that it is ‘poor’ (representation of places).

» The candidate needed to demonstrate a more sophisticated understanding of and insightful reference to the key

concepts of language and representation, moving away from the simplicity of high angles and close-ups, to framing
and composition.

» The candidate could have demonstrated a more insightful understanding of the social significances explored in the
extract, such as the racism and class issues.

+ The candidate could have utilised theories, such as Judith Butler’s theory of gender performativity and Levi
Strauss’ theory of binary opposition to provide evidence for their points of analysis.
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Example Candidate Response — middle Examiner comments

I-’\ "H‘LQK treck  “Movr Pomas ' MQMCS“ _Condtevihe A

Ehroyn My .- Ceuel Confiitt. ) Posurbn Qo vel

o I f"'u Fo violzaw eueh Cleck A

. (‘*vaf"fj o e lio ceprraninehs Thest fr Fhome e
) \a:s/’r"ct) ek Ary) S i ea festme . S (QWQCAJ- -
(LIN Im\\‘ s e e

_F"F(r.ﬂ‘l\:) s Cre Ca exhre. (91'% f'x){" LW
_Sheot

Show & cgr RENY

P““’”'AX A bty & conmers, ClEL Tha

iS Ckad BN e CAcicin 9(3«]

R tert

Thiy j’o_c_cS,.!_-_:sr.sf/.(_:!\E.\.fklx..‘..,{:segs. xj s, Cer i FLoy
J2Xtreeh.

] Nﬁn~d-c ){A,(L vl s e oy, tome iy e A e

Joro~+f~=¥<5n Mmoo e @xtecite . Thiy StSws .

Lol Sbey e Teavonr of P etmchk Prom_ tial
8]

Stet cra foce sty oo it cond o,

GhochoA Cagepan Fhees

| An eH*c/‘u\fﬁ) sket n wedk to biyhiijbt _H\L F’*’“‘Qf“j
e Crea.. e Cen v df‘w,:"j -h"/dv STy
LA B codtcke. Ch Sare -I’ Lngci . far. ﬁ\o

| owehitm. et jm#‘o-/ho%3 _____ Q&K—(E\Ldb\\ C/t(C)Q/:vw

bt bey  chich —-‘M\PJL .—,,vo,;,b_f_»/]'v'c_!m by 8Ot .

Rt &i'bﬂ e Ccp CrA

d8b G _wed M Showin  Sameaes

LAGlmh uf

‘—ﬂcf..l__k«"} e oda el Shellse ve A

Ly elore Hy 10og At Bragg Uny reeiy tnagio b

a The candidate uses media
terminology appropriately to make
a clear point and analyse the way
that ‘non-diegetic music with a low
tone is used from the beginning of
the extract’ and creates tension as
this ‘foreshadows a thriller’. This
shows a clear understanding of the
key concepts of language, through
a clear and appropriate selection of
an example.

e The candidate analyses

the way that the mise-en-scene

of ‘poverty’ is generally used to
‘create a sense of unease for

the audience and potentially
foreshadows danger’. This shows
some understanding of the

key concepts of language and
representation of places and of the
social significances explored in the
extract.

0 The candidate uses media
terminology appropriately to make
a clear point and analyses the
way that the camera shot as a
‘shallow depth of field’ creates ‘a
sense of loss and factors in to the
theme of death and mourning and
also into the stereotype that death
is inevitable’ creating a sense of
depression’.

10
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Example Candidate Response — middle, continued Examiner comments
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CApa P _auc ,L_Muue e The candidate analyses the
way that the mise-en-scene of

a ‘red shirt’, constructs meaning

as it ‘foreshadows danger’. This

sk chriven Yfea tomy Lok b weed (g

e Loy ‘f‘ borricdsy dr'“;‘\‘)“n";’ e ST SE— is somewhat simplistic phrasing

R 'QWJ\ B nfenilics Gl The el e but demonstrates the clear
and appropriate selection of an
example.

11
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Example Candidate Response — middle, continued Examiner comments
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[ By fartsbidona oo eakad Gootthed Geibin R Sqpme terminology and analyses the way
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& Ko posteey S peaic. Alccoye Lt in the extract ‘to portray his panic’.
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0 The candidate makes a clear
point and analyses the way that

the mise-en-scene of the ‘inhaler’
_Jeaguqyl | | is used to show ‘that the boy

- L, is asthmatic and falls into the
stereotype of the skinny, nerdy guy’.

The Lo, bheq  Nanied ,:x,,(m_ed,_,,:_911__,._,9$.. A
...................... ﬁ‘.’_\_.[,ag,\‘_g;,ﬂ..,.;“1:&,",__,??(_,lt[c efs T Shows

N %&' qVL/'; o S _Cacsnrn = +1~( Consed 2t *{:“
Phloh ke bu Goetuin N hicte. The (:')”*‘i‘) e

colowedd _corm. Thy [ijaﬁ‘;(m Pucitn .. Socq 7accne

OAA . fror bos (realy e O bima B CZ/'V(A}»’J\ L«l\j

he i in T8 MONE SR I W Uiy B3 |
oon ey b oF -"\DOMLL:‘ e (e Ols~erd

Ylea St Acwin  SQcud fre e Sibe it —
= P o e o s S Lot WY i o,

pvib i, iy used Py gbon e Sehe  pictes o

Ly &ahay o e Cyedint Ocken Yhes Lae K

ths . e oot Lrech v L}:‘:J__Uﬁcm. Thiy Shosy

o becst Geet @B by jt‘u Lobveq  Showy e f0lcdzeiup |

h 9ok wrih by ety wa (Mas, . Tt Gintrb ik

B 4 Skcmhc] Jres G j vielea  end ‘\‘\l'mu-sjudle/m

—l—Lﬁ %).OV"‘\’ Ot Cary LQ"L\VW/A +° L\:| af\:}j'.ﬂej‘
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

I LVMM . f\e/‘i:‘\-\S:);,/‘('\O oL

(\{GA\M}Z\"OA%J CaemA “\ VieAd W < ‘HN

L’-“w} A ujjc*ia*" e KAy 0y Ylen e S Loo

& Sdeet Cer G p Rk = feer Mito. Onrrer,

............. o lEaR Gl feeng (hh s vsd Yo ot

eefpenle o Fre Doy Joe cak.bgy e Foviom.
Tl lecds b Susdeee.. B _Guepn tlo )

o tre Slecn Cor il bk i T L\I,.amor

n e :Plrv\miu_no\n Cv e o .71\ A Sonn CACT n-\:\

FC(/bUA\(jﬁ,,,,S.ng.ﬂw e et W Lot s, Stamss SoA
jf 20 hedvey Ao cdec b S

bt See He o

. ,3 e Creqh iake G GleeAhA
ea . Ty ceonhioug B P Slek o Wb L"Mﬂ-}..@ ..... e The candidate makes a clear
190 fpas. Clowe P S g,} e Sty Clages | POINtanalysing the way that the

' , : mise-en-scene where a ‘young man
1Creh  Sedmya . B Shio Fle  Siindem ) Fpe . ,
el A Y N crash into a black man’, constructs

XV
-

L meaning as this ‘contributes to the
black vs white binary opposition’.
Lt (ee a ligd Camj\[rw\ A Lotteon g Fie Although thg deslcr.iption.is
Cam - +ius o h . 114 Lo somewhat simplistic (white / black)
i e ¥ and may not appropriately describe
‘j jac i the  Ueg & jaw 9n e the ethnicity of the characters,
ey iWio Steeh con cheien fy The ey tre | northe actors who portray them,
loviatat B G T GthA Coy invgireaat b the candidate does show a clear
eIt understanding of the key concepts

of language and representation and
of social significances.

mb sun_Den (e [N Mocdr Ve Uik,
Tl bl feane end  mmdeer Hire ciod e G et

e i el
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

Toa . Condvoda , f\(_’_'lvtjolﬂcuhcj% exlest
he A s B _cnilrt Nc/w} - Wu\%”p:we_rhj-_”_

eRoeak  Duck s Fho Sl oldh SOue( an
He  (Prcw  onimis. T Corhe bt B e

,_.WIQQQ.,_______@PWn.dn'n ed  tone vy PQCgQ . To wre
._W‘QC*‘)—Q."’;‘ chucke Aeacipba =~ i o3 Clew

J
Cen = e :] les T\"L Ll it R
fen . fe o saon Sy K .c = ‘~'_( w o 0 The candidate uses theory
%\/‘“l)_ U)—LA_Q_’\ L’\f:\ ,A{,_\.I)‘_P\]‘\ Pt&ﬁd’\ ‘!M{ \ i\\/\,‘j'\‘\ e e apprOpl’Iate|y tO make a pOInt and

T e oo (herd o Flo Beeni il _Gihas analyse the way that ‘Propp’s
e . L&N’J ] jP‘"‘W ot A *j“ paMJj ;;nhara.cter descript'ion’ cons‘tructs
o . eaning for the viewer as ‘the
: ng"“"‘“’j;f pron Ao odeehr o Sair. Melbar. young black men can be seen as
the villains’. Although the candidate
does not identify aspects of the
characterisation which would
support the analysis, this still
demonstrates a clear understanding
of the social significances explored
in the extract.

Overall, through nine points of
analysis, and across all four micro-
elements (camera shots, angles,
movement and composition;
sound; mise-en-scéne; editing)
the candidate provides evidence
of a clear understanding of and
appropriate reference to the

key concepts of language and
representation. Media terminology
is used accurately to help make
(mostly) clear points.

Total mark awarded =
15 out of 25

How the candidate could improve their answer

» The candidate needed to be more precise in their use of descriptors and use more sophisticated, and effective
media terminology. They also needed to ensure that all words used were accurate, e.g. sound, not music.

» The candidate needed their points of analysis to be more specific and therefore more effective, e.g. exactly what
about the location signifies that it is situated in America and exactly how is the role of the car foreshadowed within
the extract and what is that role?

* The candidate needed to avoid generalisations like ‘black’, and ‘white’ and be more descriptive and specific.

» If the candidate had planned the structure of the response, this may have helped to avoid repetition and build
more effective and sophisticated points by linking aspects of analysis to multiple examples from the extract. The
response does not have to follow the narrative order of the extract.
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Example Candidate Response —

low

] This. 1.0 Shore <lip. deeds  ful of waosiery oot enisdenls
[ foe _oprre s dramna.. end menbe werer. Inine (@)
frey  Scene we eve an  over Yhe snoukder  shot
Jof e ooy holing. en Mok and. tohite pievare
Wi 14 oo semanhc. code  tov \-erSeéj,,of’rHie
?&S;\ngc{-someor\e e beve o non. degeric sousd

OF. & _rrgsteious  Sofg [composi hon.
e ave ox lorg disYande  shOr of Tri\fe LGS

fn_dhe neck scene.

CQ?YOC\U\MC) e oy Then we bove o bracing ;\noF
_¥ne boy vuehirg Yo opr inro W cof he 14 red

cw& Indne gofe of ponic o we knowo ok by

APe  close - B N N LN v\owew\’éa

%&a\»\ﬁ% crderotNensd . Le Vave o lorey S

B E R V- ORI S I S ) S %
IR Ade | con s€e AheY Mefe le no ore bn ke

Example Candidate Responses — Paper 2

Examiner comments

c The candidate uses media
terminology accurately to make

a simple point and gives limited
analysis of how meaning is
constructed in the extract: ‘the
genre is drama and maybe horror’.
However, they do not identify any
elements as examples to support
this analysis.

e The candidate uses terminology
to make a point and analyses

the way that the mise-en-scene

with its ‘black and white picture’
constructs meaning as ‘a semantic
code’ for tragedy, or ‘the passing of
someone’.

9 The candidate analyses the
way that the ‘close-up shot’ creates
meaning for the viewer as ‘he is
scared’ and in a ‘state of panic’;
representing feelings and emotions’.
There is a lack of explanation as

to precisely which of the elements
constructed for the production
denote that the character is scared,
or how a close-up shot can connote
feelings and emotions.

o The candidate uses terminology
to make a point and analyses the
way that the mise-en-scene where
‘there is no one on the streets’
highlights that this is a ‘semantic
code’ in the extract ‘for danger’.
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Example Candidate Responses — Paper 2

Example Candidate Response —

Junstery, problem . Tre ooy \ooks. \ive ke

LCORRNG,  Loons, o, JRRKE._angent axre XY’“\QA—

low, continued

dolsn'y
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he boy e

We Ve an exxyyeMme c\0sE —up = e
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S.O0SE L@ POy Ot Im S el P o A

juhove wue

_Rlewdtas WDy oS

Ipenlcelon)  end on  dreyEhc Sewna u&uee
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o€ Hodx More g C &
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Examiner comments

6 The candidate makes a point
and analyses the way that ‘he
didn’t do anything wrong to provoke
anyone’ constructing meaning in
the extract creating enigma and
mystery.

e The candidate makes a clear
point stating that a ‘close-up shot of
him sweating and panicking’ along
with a ‘diegetic sound where we
can hear he has trouble breathing’.
However, there is no analysis of the
way that these technical aspects
have been used to construct
meaning in the extract and so it is
descriptive.

0 The candidate uses media
terminology to make a simple point
of ‘we hear tire breaks through
diegetic sound’. However, this is
descriptive.

Total mark awarded =
10 out of 25
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Example Candidate Responses — Paper 2

How the candidate could improve their answer

The candidate needed to ensure that all points made were linked to points of analysis. The candidate should have
avoided simply describing the technical elements used within the extract.

The candidate needed to make sure that all words used were accurate, so that communication was not impeded,
e.g. enigma, not ‘enigdma’.
The candidate needed to be clearer in their analysis, e.g. exactly what about the extract signifies that the genre is
‘drama and maybe horror’.

Avoiding generalisations like close-up represents feelings and emotions, might have helped the candidate be
awarded more marks. The candidate needed to be more analytical and use specific examples from the extract,
from across all the micro-elements (camera shots, angles, movement and composition; sound; mise-en-scéne;
editing).

The candidate could have planned the structure of the response to avoid repetition and built clearer points by
linking aspects of analysis to more than one example from the extract. The response does not have to follow the
narrative order of the extract.

Common mistakes and guidance for candidates

Some candidates simply narrated what was seen, or simply described technical elements featured within the
extract, e.g. camera shots (long shot), angles (high/low), movement (pan/track), composition, sound and editing
techniques (transition, cut). Instead, candidates need to analyse the ways in which meaning is constructed through
technical elements within texts, rather than retelling, or describing the sequence. Candidates should avoid simply
describing or pointing out technical aspects and focus on how and why meaning is created.

Some candidates repeated points throughout. This might be avoided if they were to plan the structure of their
response to cover a wide range of examples and points of analysis.

Candidates sometimes reduced analysis to simple points, such as colour analysis (black is bad, white is good).
Candidates should elevate their analysis beyond such simplistic points to consider the representation of people
and places.

Candidates need to ensure that analysis is specific to the content of the extract and not generic.

Inaccurate use of terminology, e.g. using the term ‘jump cut’ instead of ‘cut’ or misunderstanding non-diegetic —
candidates should check their use of terminology.

Some candidates did not identify sound and editing — candidates should ensure that examples from all the micro-
elements are covered (camera shots, angles, movement and composition; sound; mise-en-scéne; editing).

Some candidates superficially applied theory and, in some instances, did not reference theory at all — use theory
where relevant.

Many candidates explained terminology, or theories, rather than using them as a point of analysis — link everything
to a point of analysis in relation to how meaning is created within the extract.
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Question 2

Example Candidate Response — high Examiner comments

v,,.v,ﬂ.mkjse Yhoe re\OAw‘ens\rﬁf behvtern medie awnesdalp ond _media

| coareat in Yhe oreq Swino\ws&o\ew‘ B
b Since fhe javenbon of ko 20 pnd M _preliferoken |
b \rusk—sg)eed beoodbondd i Yhe . eatly 20005 5 dhe cedho, “ .

Hlondscape  ias Aroosformed soreners bl _wiYh  Gedter Fechnologyy .-

| aceesible b locoer coorpernbons , cad Safidte sheA{l s o' for |

o Disney. is_ene_ob e by (%-vt’(\nu\%medw\ o
| congjomennies, “ealseh . odldonether . deminate ocomed B 0% of |

Yo Pl wackete T¥s  gademob 5 . \MQQ _ewnerskhQ. of te
L ewdion_has offectelh oot cont2ab. it produced, cochetedh end
iabured | ondh hew W o welle (iaccon. _ood Qeedoa |

steke _fhak  the oredio s awoed by ‘o smal_pueber of

\Ncsawmgmes’ ond Hhed His  coacendedion  hinils ey,
) ,vo;c;e—.b mc)oQAversb’ 1(\__,,,201,0.\_7__«_0{3«\ released  “The Lien

_— K\ﬂﬁ’ LS 6 cemeke o(),“& ,Qrt‘%a‘/.\c\‘. LAk P.l("\» E‘)ﬂ....%\!few, -
Leses selocked cis Me diseddor 5 Lo is wel Yendoa_ fe hioh

Produ cbea__blodbuster (\ms, sté@(%&_&ﬁ\isﬂ, _exonpe_of u_
D’SN’D %m@wxsam\m}\l %r ﬁ\géz edhnchiors. Eem\ncc‘@
D,'sr\e.sg. lwﬁe —enedie . _owaeship, ond. Rm(om \orBe . lw\o)‘bely N
_fof  $780cion, Hew tiee_oble to zxcc,e}s_‘,..L;.cﬁM, end_echadlogyy,
Jahich oo .5foe.a.c)br,eo\}11'n _in Yhak ok gheaddled. Q\P\NL\(\L
|bedveea  vichel oad ow mm.keév_ﬂ..,mq.l;bw The _cost wore leadsets
e dond. g.\mec’) A0 o dhoadel ﬁCn con Sovenach _cdmeh ios_cceohed _on |
JOacenl ,enﬁ.{of_,«..... winld_Hvs %C‘/'Nﬂbﬁj WS tz)munﬂ)‘f]b&qh ag,y it
Mo Llkel soved os e ungee seMuD(o«Mk dicheact Trom ?

| Mo wse of M some sehpl ) music | oad viice adiore Lihe |
| Jomes. €or)_Jones. _,_€Ssent\ia\l./,3,, e Bln oo e chod - for -shed

|vesalee | clerecly ooeeling huype otound e neons 3k s ereaded
Tt codber Wnon He” (il ol This applies fo_whad

“ The candidate shows
understanding of audience and
industry using media terminology
‘Web 2.0’ to refer to ‘the proliferation
of high-speed broadband’. This
demonstrates an understanding

of wider issues, e.g. technological
convergence. The candidate’s
factual knowledge of contexts and
debates where better technology is
‘accessible to larger corporations’,
and there is ‘infinite shelf space’ for
smaller productions’ are relevant
and link to the question.

o The candidate uses the
terminology, ‘multimedia
conglomerates’ and effectively
references that this dominates
‘around 80% of the film market’.
This shows an understanding of
wider issues, e.g. media ownership
and institutions. The candidate also
analyses Disney as an appropriate
case study to explore film and uses
a relevant theory effectively, Curran
& Seaton.

o The candidate uses the
terminology, ‘virtual and augmented
reality’ to effectively reference

that with a ‘large budget of $280
million, they were able to access
high end technology’. This shows
an understanding of wider issues,
e.g. symbiosis, or efficiencies in
relation to the cost of production.
The candidate’s factual knowledge
of contexts and debates that ‘most
likely served as a unique selling
point’ are relevant. The terminology
‘Unreal Engine’ is used to analyse
the Lion King, 2019, applying a
relevant theory effectively, Curran &
Seaton.
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Example Candidate Response — high, continued Examiner comments

L Qs end Seadon. Sam_abovk . Sleme._compones’ ;a5 He noy
Doerby Haree  ive achion remokes__ose defrolely Limhing yostely a ° The candidate refers to

od s o et cowsiney Yondhise {\tA\ ue . Not ol okd ] franchise fatigue’, in relation to
I isnens  gwnsswe o tRd pedudhon, % _olse inHoened how D|§ney S “\./e action remakes.
: 0'3 (-0 0 ¢ This effectively demonstrates an
'“J., __F\]/f"\ S ka&'l@(J v . ] eCO-vSBQQ‘\"!’eAf\"eQd/\/ DAS‘\Q& Aadey understanding Of W|der iSSues’ eg
loble Yo cost  Bemonce s Nelo ok oo P,cg;)ﬂ'cabb\ consumer choice.

o ewa subsed of \){{e (:%5 cwvx()e»lﬁm He((;\]%f:a c‘@_)

|20l ok Mo Koo aloan u O oXber cast pumbes © The candidate states that

. ] ) ‘Disney was able to cast Beyonce

ke Decold. Glor_ond Sedr Rompa. caodd_ lrowe o sivels, as ‘Nala’; along with other cast

| cenlobuded Yo Her ool of Hedine widec we),,im_ces_.,,..e__ members like Donald Glover and
| These__ supestecs |, howeses, oo cost b their _necmes ond. Seth Rogan’, demonstrating an

| Mnticovebers , _noY . thee  ceabnby or daleat: A Hesmend holale understanding of wider issues,

2 J e.g. cross-promotion; cross-

E)U\)n: o , it o@oues {he Disaen  Epiniomise (‘!§}§,,,A,MQ:§7:?‘?'.§.§- media synergies; competition.

A peelid Disce coen Mo cisl o ovdienes ot Chiney fiuns The candidate uses a relevant

, {)3 mhinj.__,.,o\ceow)b Joed ond _cuomss Pml{l\ms ,.0nd_mowimises | theory effectively to support,

Hesmondhalgh.

. X s . (‘ * e}
m@*() _MsInG %u{)PFS,j[a\KS bo 80«»\(\ (.)o\‘()v\(or 3:\) D\5 9‘:\,

aleo o..§$€f‘""0<l"3 ‘rervade’ ‘[’\ﬁf(’fdw)f‘b"ﬂ Ccmem\ﬁn o o The candidate uses the

B (:»r%z wﬁb{l,\o‘g\“ AAH move oy Me some  werchendise terminology ‘merchandise’ to
fevos wsed,” bd _oopa . pewer l’e(‘/‘nmﬂog(j dhisopused Hms, | effectively refer to ‘co-branded

Lhe Mer mecive  dinito) Slor (Wes expererce ol advertisements with the likes of

‘ b . . ) ‘ L~ McDonalds, Pandora and Jeep’'.

Dﬁsf\fﬂj‘lon 09» - &Tc f. W}x: W\/At\ﬁ}?, Qw,.:},r.\eD_ ,daq)wrl)rmo)eo) e fl This shows an understanding of
| odvesemots ot M Uhes  of  MDeodds, Pendosen_oad wider issues, e.g. cross-media
L Jerp, o osed frdage o Heircon devingy Ywogh e 0 | synergies, marketing, partnerships.
oe] 30&'\’5\(\!\0\\'\ p\l«&du«x'\’\/‘ "n‘(_L‘l‘m Mﬂf\ﬂ'«; ! C\’\DPQQ)'EfSr TL‘%’\) DB N The Candldate N faCtuaI knOWIGdge

of contexts and debates stating
that ‘they were able to show these

|-oble_to - show e ks 50&‘519,‘%\ g, -
,,,,,, werheed inlearohon,  oadTin L Cinemes  <honane, ,R\m« s Ll

ads on Disney+ thanks to vertical
| Sder Wers  (onetner cemedne) , owned k\,t) yeus I-TLM/ o | % integr'ation’.are relevant anq
D\s%bouﬁ\«* VAL iy o ot et e P e ;a effectively link to the question.
A, O\bmadel, ,9\,3,,,,,,o,\__,,,l,,,g)tﬂ,%géﬁﬁ o The candidate references
> dh %nga)mm‘so«\/\ L MG\HUS,OAC)Q%Q ‘Lucas Film, who Disney bought,
_:k’LQ_____t,qA_/) Heir condnt s mode, mecheded ond demonstrating an understanding

of wider issues, e.g. competition,
market share. The candidate’s
factual knowledge of contexts and
debates is evident: ‘Ultimately

as a large oligopoly this profit is

all that matters’. The candidate

also uses media terminology,
‘horizontal integration’ to analyse an
appropriate example, Disney, Lucas
Film.
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Example Candidate Response — high, continued Examiner comments
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e The candidate states that
‘Fable isn’t a large company,

they value creativity, variety and
diversity; profit is not of concern

to them’, demonstrating an
understanding of wider issues, e.g.
media ownership and institutions;
competitions; independent. Media
terminology, ‘budget; rights’ is
used accurately to analyse an
appropriate case study, ‘Rocks;
Fable Pictures’ to explore film. A
relevant theory is applied effectively,
Hesmondhalgh; Anderson.

20




Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments
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e The candidate refers to

how ‘Raye was able to use the
internet’s infinite shelf space

to her advantage, marketing
projects for free’, demonstrating an
understanding of wider issues, e.g.
media ownership; technological
convergence; independent. The
candidate’s factual knowledge of
contexts and debates where the
‘contrast of before and after she
was signed to a label highlights
the damage large ownership has
on creativity’ are relevant. The
candidate uses the terminology,
‘independent’ accurately to analyse
an appropriate case study, ‘Raye;
Polydor; Escapism’ to explore
music.

Overall, through over nine

points of analysis the candidate
provides evidence of a thorough
understanding of and effective
reference to the key concepts of
audience, and industry. There is a
clear analysis of texts from multiple
case studies used to explore film,
and music. They also use a range
of media terminology accurately

to help make clear points. There

is a fully effective and appropriate
selection of examples from a range
of texts.

Total mark awarded =
19 out of 25
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How the candidate could improve their answer

The candidate could have developed a more sophisticated understanding of the key concepts of audience and
industry and evidence this through insightful references to wider issues.

The candidate could have engaged in debates in relation to the current state of the media industries, weighing up
the pros and cons. The candidate needed to evidence more detailed factual knowledge of contexts and debates
linked sophisticatedly to the question.

The candidate needed to develop technical vocabulary in relation to industry and audiences and in response to the
question. They could have used a wider range of terminology with sophistication to make subtle points.

The candidate needed to evidence a more in-depth, sophisticated and insightful analysis of texts.

The candidate could have engaged more critically with a variety of media theories to ensure that they were
understood and could be successfully applied, where appropriate. They could have used these theories
sophisticatedly to explore the question.

Presenting information from only 2—3 case studies is self-limiting. The candidate needed to evidence an insightful
and fully appropriate election of examples from a wider range of texts.
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Example Candidate Response — middle Examiner comments
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0 The candidate clearly
demonstrates an understanding

of industry using terminology

to make their point, stating that
the ‘conglomerate owned media
institutions, tend to follow a

similar format’. This shows an
understanding of wider issues, e.g.
media ownership and institutions,
consumer choice. The candidate
also demonstrates some factual
knowledge of contexts and debates
linked to the question: analysing
the relationship between media
ownership and media content.

e The candidate adds to this
point by referencing Curran &
Seaton’s theory that all media
institutions are primarily driven by
profit and power.

o The candidate continues to
build on this point by appropriately
analysing ‘Top Gun, Maverick’ as
an appropriate case study and
providing an additional example of
Disney. This adds more evidence
to the candidate’s understanding of
the key concepts of audience and
industry.
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Example Candidate Response — middle, continued Examiner comments
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o The candidate clearly
demonstrates an understanding

of audience and industry, using
terminology, stating that ‘this results
in a lack of creativity in the media
distributed’. This exploration clearly
shows their understanding of wider
issues, e.g. media ownership and
institutions, consumer choice. The
candidate also demonstrates factual
knowledge of contexts and debates
by analysing the relationship
between media ownership and
media content: ‘in order to attract an
extremely broad target audience’.

° The candidate makes a

clear point stating that ‘smaller
independently owned media
institutions tend to produce very
diverse and creative content’.
They demonstrate some factual
knowledge of contexts and debates
linked to the question. The use of
media terminology is evident in

the phrase a ‘unique selling point’
and this is appropriately used to
analyse the example of ‘IAC Films;
Everything Everywhere All At
Once... a very unique and creative
film’.

Overall, through over five points
of analysis the candidate provides
evidence of a clear understanding
of and appropriate reference to
the key concepts of audience, and
industry to explore film.

Total mark awarded =
15 out of 25

How the candidate could improve their answer

The candidate needed to demonstrate a more thorough understanding of the key concepts of audience and
industry by making more points, exploring more issues and effectively linking these points to the question through a
range of media terms.

The candidate could have evidenced a more thorough and effective analysis of more case studies, or more
detailed case studies.

The candidate needed to demonstrate their understanding of theories by explaining them in relation to the question
and examples provided. It is not an effective use of theory to simply state or outline one aspect.
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Example Candidate Responses — Paper 2

Examiner comments

0 The candidate demonstrates
some understanding of key
concepts by stating some factual
knowledge of contexts and debates:
‘funded by infinite pools of money’.
The candidate uses terminology

to make a simple point, ‘an
oligopoly company owning over 200
companies within’, demonstrating
some understanding of wider
issues, e.g. media ownership

and institutions, competition,
market share, domination. The
candidate analyses a limited but
generally appropriate case study,
Disney. Although media theory is
referenced, this is not considered
secure.

o The candidate shows some
understanding of audience but
with a limited factual knowledge

of contexts and debates. A

simple point is made which is not
clearly linked to the question. The
candidate analyses ‘Aladdin, 2019’
a generally appropriate text. Media
theory is referenced, although

this is not considered secure,
rather simply stated: ‘Alvin Toffer’s
theory of being a prosumer; Chris
Andersons Long Tail theory’.
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Example Candidate Response — low, continued
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Examiner comments

o The candidate demonstrates
some understanding of audience
and industry and uses media
terminology accurately to make

a simple point: ‘which will have

a much more niche and smaller
audience’. This demonstrates a
limited understanding of wider
issues, e.g. media ownership and
institutions; independent. The
candidate accurately analyses
the BFI as a limited, but generally
appropriate ‘case study’.

Overall, this candidate provides
limited evidence from a generally
appropriate selection of examples,
to explore film.

Total mark awarded =
10 out of 25
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How the candidate could improve their answer

+ The candidate might have managed their time more effectively by giving equal time to each question (as weighted).
» The candidate needed to be more specific and provide more detail to ensure clarity.
* The candidate needed to write about more than one case study or provide more detail.

Common mistakes and guidance for candidates

+ Some candidates did not use any case study material at all.

+ Some candidates referenced case studies, or theories that were not recent, or relevant (usually due to their historic
nature, e.g. Star Wars, Jurassic Park, that are from more than 5 years ago).

* Presenting information from only 2—3 case studies is self-limiting; candidates should be given more freedom to
research each media area outlined in the specification and encouraged to build their own resources and case
studies from each area (and perhaps even across various industries), while retaining a focus on one media area,
e.g. video games.

+ Candidates need to make sure they can use terminology fluently.

» Candidates need support to develop technical vocabulary in relation to industry and audiences and in response to
the question. Examples are fandom, synergy, convergence, prosumerism, conglomerate, oligopoly and hegemony.

» Candidates who did not address the question tended to provide a generalised overview and superfluous facts.
Candidates should be encouraged to apply their case study examples to the question as set, rather than
presenting factual information, e.g. a potted history of Disney.

+ Some candidates focused on facts, without providing any analysis.
» Some candidates focused on companies, rather than media texts.

» Afew candidates provided a historical overview limited to facts, such as release dates and box office revenue or
provided irrelevant information about theme parks.

* Many candidates did not provide any evidence of an understanding of wider contexts or critical debates.
» Some candidates did not focus on answering the question set.

» Some candidates did not engage with any theories, or superficially referenced older and less relevant theories,
such as the Hypodermic Model, Two-Step Flow or ‘The Big 5’.
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Question 3

Example Candidate Response — high Examiner comments
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Example Candidate Response — high, continued Examiner comments
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o The candidate uses ‘social
media’ to effectively argue that
‘audience participants has

enabled smaller productions

to reach a wider audience as
people can share through social
media the content that they

enjoy’. This exploration effectively
demonstrates an understanding

of wider issues where ‘the
spreadability of content is now
crucial to their success’, relating

to technological convergence and
active participation. The candidate
uses terminology, such as ‘organic’
and ‘zeitgeist’ to effectively analyse
an appropriate case study, Host,
2020 and explore film. They use a
relevant theory effectively, Jenkins.

° The candidate uses the
terminology ‘platform’ and
‘prosumers’ to effectively reference
‘a platform that combines different
media areas (video and music)'.
This effectively demonstrates an
understanding of wider issues,
such as the ‘emergence of tech
giants like TikTok has brought new
ways for consumers to interact with
music’, relating to technological
convergence and social media
interaction. The candidate’s factual
knowledge of contexts are relevant
and evaluate the ways in which
audiences are active participants.
The candidate uses terminology,
‘synergies’, accurately to analyse
Universal and Tik Tok as an
appropriate case study to explore
music. They use a relevant theory
effectively, Curran & Seaton.
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Example Candidate Response — high, continued Examiner comments
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of uses and gratifications. The
candidate’s factual knowledge of
contexts and debates are relevant
and effectively link to the question.
The candidate uses terminology to
effectively analyse The Guardian,
an appropriate case study to
explore print. They use a relevant
theory effectively, Pariser.
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Example Candidate Response — high, continued Examiner comments
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e The candidate shows an
understanding of audience and
industry using accurate terminology:
‘active participants’. This exploration
effectively demonstrates their

understanding of wider issues,
‘growing power as a result of
the internet’, which relates to
technological convergence.
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Overall, this candidate provides
evidence of a thorough
understanding of and effective
reference to the key concepts of
audience, and industry. There is a
thorough analysis of multiple case
studies used to explore film, music,
and print. They also use a range
of media terminology accurately to
help them make effective points.
There is a fully effective and
appropriate selection of examples
from a range of texts.

Total mark awarded =
21 out of 25

How the candidate could improve their answer

+ The candidate needed to demonstrate a more sophisticated understanding of and insightful reference to the key
concepts of audience and industry, with insightful understanding of the wider issues, sophisticatedly linking factual
knowledge to the question, through weaving their points together and developing their arguments further.

+ The candidate could have used terminology with more sophistication, to make more subtle points.

» The candidate needed to undertake a more sophisticated and insightful analysis of texts from more detailed case
studies to explore the chosen area(s) in more depth; therefore, providing more examples which are more insightful.
This analysis would have then linked their points together and developed their arguments further, to be more
sophisticated.

* Relevant theories could have been more sophisticatedly used to explore the question, throughout the response.
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Example Candidate Response — middle Examiner comments
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0 The candidate demonstrates
some understanding of audience
and industry stating that audiences
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

o The candidate demonstrates
understanding of audience and
industry, using media terminology
appropriately to make their point,
stating that TikTok makes it

easier for fandoms to grow. This
demonstrates an understanding

of wider issues, e.g. technological
convergence, social media
interaction and audience theory.
The candidate demonstrates some
factual knowledge of contexts and
debates linked to the question

and uses media terminology,

such as ‘fandom’ appropriately to
analyse appropriate examples.

A relevant theory is referenced,
Jenkins, although this is not always
accurately used.

o The candidate references a
relevant theory, Blumer & Katz,
although this may not be clearly
understood because it is not
blended into the point.

o The candidate references a
relevant theory, Dyer, although
this may not be clearly understood
because it is not blended into the
point.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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o The candidate demonstrates
some understanding of audience
and industry by stating that ‘copying
other songs to gain a larger
audience and more money ...
leaves the audience and artist with
no creativity’. This demonstrates
some understanding of wider
issues. A relevant theory, Curran

& Seaton, is referenced, although
this may not be clearly understood,
as there are no details, and it is not
clearly linked to their point.
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Example Candidate Response — middle, continued Examiner comments
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clearly use media terminology, such
as ‘Web 2.0°, ‘fandom’ ‘synergy’ and
‘streaming platforms’ appropriately
to analyse Spotify, an appropriate
example.

Overall, the candidate provides
evidence of a clear understanding
of and appropriate reference to
the key concepts of audience, and
industry to explore music.

Total mark awarded =
15 out of 25

How the candidate could improve their answer

» The candidate needed to demonstrate a thorough understanding of and effective reference to the key concepts of
audience and industry through providing a more detailed response, with less repetition.

» The candidate needed to demonstrate an effective understanding of the wider issues explored through providing
more details and linking their points together more effectively.

» Factual knowledge of contexts and debates should always be clear, relevant and effectively linked to the question.
» Arange of media terminology should be used accurately and appropriately throughout the response.

+ There needed to be a more frequent, more thorough and more effective analysis of a larger range of texts from
multiple, detailed case studies to explore the chosen area and beyond. The case studies presented were minimal
and some lapsed into simple examples.

* Relevant theories should always be used clearly and effectively in response to the question.
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Example Candidate Response — low
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Examiner comments

o The candidate demonstrates

a limited understanding of the key
concept of audience, stating that
they are ‘also consumers’ making a
simple point.

e The candidate shows a limited
understanding of the key concept
of audience to make a simple point
stating that ‘audiences watch the
media source, talk about it, or read
about it making them extremely
active participants’.

0 The candidate demonstrates
some understanding of audience
and industry, with limited factual
knowledge of contexts and debates
using media terminology accurately
to make a simple point. This shows
a limited understanding of wider
issues, e.g. interaction via social
media, audiences as creators. The
candidate uses media terminology
accurately to analyse ‘Spiderman:
Across the Spiderverse’, a limited,
but generally appropriate case
study.

o The candidate shows some
understanding using limited factual
knowledge of contexts and debates
stating that movie critics use

media terminology ‘on websites
like Imdb or rotten tomatoes ...

the audience would be able to
watch and let future viewers know
about the status and quality of the
movie’. This demonstrates a limited
understanding of wider issues, e.g.
interaction via social media.
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Example Candidate Response — low, continued
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Example Candidate Responses — Paper 2

Examiner comments

e The candidate generally
demonstrates a limited factual
knowledge of contexts and
debates, ‘Cosplaying is the act of
dressing up as fictional characters
such as spiderman’, using media
terminology accurately to make

a simple point, ‘Audiences have
the ability to cosplay as well in an
attempt to be active participants’.
This demonstrates a limited
understanding of wider issues, e.g.
audience theories.

Overall, the candidate provides
limited evidence from a generally
appropriate selection of examples,
although this is from only one
case study. There are no media
theory references, which limits this
response.

Total mark awarded =
9 out of 25
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How the candidate could improve their answer

The candidate needed to develop and evidence a clearer understanding of and appropriate reference to the key
concepts of audience and industry and the wider issues by providing more information and exploring more details.

The candidate needed to engage in debates in relation to the current state of the media industries, weighing up the
pros and cons, thinking about what the difference is between participation in fandoms and prosumerism.

The candidate could have evidenced more factual knowledge of contexts and debates, which are more often than
not appropriately linked to the question.

The candidate needed to use more appropriate media terminology, more often, to make clearer points. Examples
are fandom, synergy, convergence, prosumerism, conglomerate, oligopoly and hegemony.

The candidate needed to evidence a clearer analysis of texts from more than one appropriate case study and
provide more examples of texts, which are clearly appropriate.

The candidate should have referenced relevant theories and evidence that they were understood through providing
information and exploring details.

The candidate needed to build more resources and case studies from each area (and perhaps even across various
industries), while retaining a focus on one media area.

Common mistakes and guidance for candidates

Some candidates did not use any case study material at all.

Some candidates referenced case studies that were not recent or relevant (usually due to their historic nature, e.g.
Star Wars, Jurassic Park, that are from more than 5 years ago).

Presenting information from only 2—3 case studies is self-limiting; candidates should be given more freedom to
research each media area outlined in the specification and encouraged to build their own resources and case
studies from each area (and perhaps even across various industries), while retaining a focus on one media area,
e.g. video games.

Candidates need to make sure they can use terminology fluently.

Candidates need support to develop technical vocabulary in relation to industry and audiences and in response to
the question. Examples are fandom, synergy, convergence, prosumerism, conglomerate, oligopoly and hegemony.

Candidates who did not address the question, tended to provide a generalised overview and superfluous facts.
Candidates should be encouraged to apply their case study examples to the question, as set, rather than
presenting factual information, e.g. a potted history of Disney.

Some candidates focused on facts, without providing any analysis.
Some candidates focused on companies, rather than media texts.

A few candidates provided a historical overview limited to facts, such as release dates and box office revenue or
provided irrelevant information about theme parks.

Many candidates did not evidence an understanding of wider contexts or critical debates.
Some candidates did not focus on answering the question set.

Some candidates did not engage with any theories, or superficially referenced older and less relevant theories,
such as the Hypodermic Model, Two-Step Flow or ‘The Big 5'.
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